Crompton

INDUCTION MOTOR

POWERBEHINDTHEDRIVE,

Frame 63 to 400

@ € © PRODUCTS CATALOGE 2012

nd deadn i e DA e e ey T



Crompton
Powrr Behind
Tha Dwrive

. Insulation and Thermal Rating

The temperature rise of the windings and the insulation materials of an electric motor a cirtical
to the life expectancy of the moter and are functions of the design of the moter. The insulation materials
age overtime and this aging process is directly related to temperature. Eventually the materials lose their
insulating properties and break down causing short circuit.

The increase in temperature of a motor is due to the losses that occur in the moter. These losses ‘
are mainly made up of copper and iron losses. The temperature inside the moter will depend on how
effectively this heat can be removed by the cooling system of the moter. It should not be assumed that
a motor that appeare to be hot externally, is hot internally.

If the cooling system is efficient, the thermal gradient through the motor will be small and the
differnce between the winding temperatuer and the external temperature will be low.

Some standards estimate the life of the insulation material as 25,000 hours if operated continuously
at their rated temperature that the life will be reduced by 50% for every 10 degrees of excess temperature.
CROMPTON motors are built with class F insulation and designed for class B temperature rise. This
thermal reserve greatly increases the life of the motor especially when most motors operate at less than
load, and are not in continuous ambient temperature of 40°C

| Insulation Classes
[A | e ]| B | F |FwihBrise

Temperature Rise 105 120 130 155 155 180
Maximum Temperature of the Winding 100 115 120 140 140 165
Ambient Temperature 40 40 40 40 40 40
Allowance for Hot spots 5 5 10 15 15 15
Maximum Temperature Rise of Winding 60 75 80 100 80 125
Thermal Reserrve 0 0 0 0 20 0

The decision on a particular type of thermal protection should be taken according to the actual
operating conditions. Motors may be protected by means of current-dependent thermal protection
switches, overcurrent relays and temperature detectors.

Thermal protection is possible as follows :
* Thermal protection switch with bimetal release.
* Thermistor protection with semiconductor temperature detectors (PTC) in the stator winding.
* Bimetal temperature detector as N/C or N/O in the stator winding (if required, with
additional motor protection switch)
* Resistance thermometer for monitoring winding and bearing temperature.

Should protection of the motor be required, thermistor protection with semiconductor temperature
detectore (PTC) Shall be installed.



Crompton

Power Behind

Degree of Pretection (IP Code)

The EC has defined Ingress Protection as a two digit code. The first digit describes the degerr
of protection against ingress of solid objects. The second digit designates the
Ingress Protection against water.

If’rotect.ion agfainst in'gress. . Number Description
of solid foreign objects (First Digit)
Non-protected

Objects equal or greater than 50 mm.
Objects equal or greater than 125 mm.
Objects equal or greater than 2.5 mm.
Dust protected

Dust tight

o b~ WO N -, O

P;?tﬁ;t;%n (ggsz)nns(; gl,gf)ss Number Description
Non-protected

Water dripping vertically

Water dripping enclosure tilted up to 15°
Spraying water, up to 60° angle from vertical
Splashing water, any direction

Jetting water, any direction

Powerful jetting water, any direction

Temporary immersion in water

O N UAWNRE O

Continuous immersion in water

All standard crompton motors are designed to degree protection of IP55 (higher protection on request)

Method of Cooling fI€ Code]

The designation of the method of cooling consists of the letters "IC", followed by numerals
and letters representing the circuit arrangement, the coolant and the method of movement of the
coolant. The code are represented below :

Arrangement Code
Totally Enclosed Fan ventilated (TEFV). Motor cooled by an external fan. IC 411
Totally Enclosed Non ventilated (TENV). Self cooling no externally mounted fan. IC 410
Totally Enclosed Air Over Motor (TEAOM). Motor cooled by the airstream. IC 418
Totally Enclosed Forced Cooled. Motor cooled by an independent fan. IC 416

Standard Voltage

Output Range Voltage
up to 3kw A 220..240 V./Y 380..420 V.
4kw and above A 380..420 V./Y 660...725 V.



Crompton
Power Bokbind
Tha Drive

il:L(.?d:ml'let:ﬂ‘::m Dlmn%

Windings of standard three-phase single speed motors can be connected either in star
or delta connection.

 Star connection D

A star connection is obtained by connecting W2, U2, V2 terminals to each other and the
U1, V1, W1, terminals to the mainsas shown in the diagram.

- Delta connection ‘

A delta connection is obtained by connecting the end of phase to the beginning the next
phase as shown in the diagram.

Star-Delta starting

Star-Delta starting allows a peak current reduction. It can be used only when the reduced
starting torque obtained is higher than the resistant torque. Actually, it should be noted that the
torque of an induction squirrel-cage motor is directly proportional to the square of the voltage.
Motors whose rated voltage with delta connection corresponde to the mains voltage, can be
started with the star-delta method.

ul ui




Crompton

Powrr Belubnd

Tha Drive
2-Pole
Cast Iron Construction
e o o B R R AR L
w) (PM) | oad Loadload  *°°”  (Nm) (A) Ratio Ratio _Ratio )
075 |NDBO1-2 2840 750|743 715 085 25 18 22 55 25 000080 61 17
11 |ND802-2 2845 785782753 084 37 25 22 55 26 00000 63 18
15 |ND90S-2 2850 797|795 770 085 50 34 27 60 32 000120 65 23
22 |ND9OL-2 2850 821|822 BO2 086 74 47 29 61 31 000140 69 26
3 ND100L-2 2860 833 835 821 088 100 62 30 69 35 00030 72 33
4 |ND112M-2 2870 849|855 845 091 183 79 25 67 31 000550 74 @ 42
55 |ND13251-2 2000 872 871 853 088 181 109 25 75 33 001110 83 60
75 |ND132S2-2 2915 882 87.7 851 089 246 145 24 76 32 001400 83 66
11 | ND 160M1-2 2930 890 895 881 091 358 206 21 73 25 003900 83 110
15 |ND 160M2-2 2930 90.1 889 844 091 488 278 23 72 26 004400 83 120
185 |ND 160L-2 2935 914 (911 897 082 602 334 22 73 27 005700 B84 140
22 |ND 180M-2 2045 905 /901. 865 090 715 410 24 70 30 007700 84 170
30 |ND200L1-2 2945 915910 880 080 972 554 20 59 30 012500 86 239
a7 |ND200L2-2 2050 922 920 905 090 1196 677 23 65 28 014000 88 268
45 |ND225M-2 2055 926 919 895 081 1452 811 24 71 33 025000 90 340 |
55 |ND250M-2 2060 935/020 898 090 1772 993 27 80 31 032000 90 406
75 |ND280S-2 2965 940935901 081 2416 1332 22 68 32 059500 90 520 |
90 |ND280M-2 2065 942|939 910 092 2894 1578 22 72 30 067600 90 565
110 |ND 31562 2070 943|939 917 091 3531 1948 23 61 26 117000 90 882
132 |ND 315M-2 2975 945(945 931 092 4230 2307 23 71 28 155000 90 995
160 |ND315L1-2 2980 954 (049 932 092 5128 2770 25 74 27 17500 91 1110
200 |ND315L22 2980 954949 941 082 6409 3462 27 73 30 205000 91 1250
220 |ND 355M1-2 2080 954 /949 941 092 7050 3808 26 74 28 220000 92 1320
250 |ND 355M2-2 2985 952 947 925 083 7998 4290 18 71 26 356000 93 1600
280 |ND355L1-2 2085 953 949 929 093 8943 4800 18 71 26 384000 9B 1670
315 |ND 355(2-2 2985 956 /952 938 093 10061 5383 17 63 29 412000 94 1750
2-Pole
Aluminium Construction
loutput’ Model Speed Efficiency Power Factor Full load  Locked Rotor Pull Out Moment of Noise Level Weight
fkw) (rpm) 100% 75% cosg Torgue Current Torque Current Torque dB(A) (Ka)
_ Load Load Load (Nm) (A] Ratio Ratic Ratio (Kgm
009 |ADS61-2 2765 620 630 61.0 068 03 03 22 45 24 000014 55 4
012 |ADS622 2765 630 630 610 070 04 04 22 45 24 000014 55 4
018 |ADB31-2 2770 650 660 620 080 06 05 22 39 25 000015 5 5
025 |AD632-2 2770 650 650 620 080 09 07 22 41 26 000015 56 5
037 |AD711-2 2823 695 701 680 079 13 10 20 49 24 000060 55 7
055 |AD 7122 2843 760 750 630 081 18 14 22 59 23 000070 56 8
075 |AD8012 2840 750 743 715 084 25 18 22 55 25 000080 61 12
11 (AD8022 2845 782 782 753 083 37 26 22 55 25 000080 63 13
15 |AD90S-2 2850 790 795 770 084 50 34 22 60 25 000120 65 16
22 |ADsoL2 2850 819 822 802 085 74 48 23 61 25 000140 69 18
3 |AD100L-2 2860 833 835 821 087 100 63 23 69 29 00030 72 24
4 |AD112M2 2870 845 855 845 0.0 133 80 23 67 29 000550 74 35
55 |AD13281-2 2000 872 87.1 853 087 181 10 22 75 29 001110 8 43
75 |AD 13252-2 2915 882 877 851 088 246 147 21 76 29 001400 83 50




Crompton

Povrr Belind
Tha Drive

4 Pols
Cast Iron Construction

loutput  Mode! Speed Efficiency Power Factor  Full load | Locked Rotor Mmmmw

100% 75% 50% Torque Current Torque Current Torque Inertia
(rpm) €050  (Nm) (A) | Ratio Ratio Ratio
055 ND801-4 1410 726 725 701 075 37 15 | 24 46 27 000200 54 17

075 NDB802-4 1420 726 729 695 076 50 21 22 4.4 27 000200 57 18
1.1 ND905-4 1410 764 766 750 079 75 28 22 4.3 30 000210 61 22
15 NDS0L-4 1410 791 790 785 0.79 102 38 25 4.7 3.0  0.00300 61 26
22 ND 100L1-4 1415 810 808 795 082 148 50 25 53 29 000670 &1 33
3 ND100L2-4 1420 829 B27 815 0.82 202 67 24 57 30 000700 63 ar
4 ND112M-4 1440 844 B39 81.7 0.84 26.5 BE 27 57 31 0.00950 67 45
55 MD 13284 1450 864 866 856 0.84 362 115 23 6.8 31 0.02130 68 63
75 ND132M-4 1450 B83 887 883 0.87 49.4 148 26 T2 a1 0.03020 68 75
11 ND160M-4 1460 89.0 878 851 0.84 720 220 23 68 25 007500 70 115

15 ND160L-4 14850 902 895 87.0 0.85 98.1 29.7 2.0 7.4 26 008300 73 132
185 ND180M-4 1465 900 905 BBE 088 1206 353 22 7.0 26 074000 75 175

22  ND180L-4 1470 910 91.0 893 088 1429 413 22 6.8 26 015900 [ 180
30 ND200L-4 1475 923 923 M2 0.88 1942 555 20 6.6 27 026500 80 264
37 ND2255-4 1480 923 921 911 0.88 2388 683 21 70 24 040400 a1 310
45 ND 225M-4 1475 928 925 N3 087 2907 828 20 6.6 25 047000 82 340
55 ND250M-4 1480 930 923 910 o087 3549 1032 21 6.3 25 067000 a2 350
75 ND280S-4 1480 931 928 918 0.89 4816 1364 20 6.3 25 1.12000 84 520
90 ND2B0M-4 1485 943 940 922 089 5788 1611 24 71 27 1.46000 84 606
110 WD 31554 1485 946 944 938 0.89 7074 1985 2.1 58 26 310000 88 880
132 ND 315M-4 1485 951 940 926 0.89 8480 2370 22 6.3 26 330000 as 1020
160 ND 315L1-4 1489 953 950 940 0.89 10262 2866 20 57 26 379000 ar 1110
200 WD 315L2-4 1489 952 948 932 0.89 12827 3568 23 6.2 27 450000 89 1220
220 ND 355M1-4 1489 952 94.8 932 089 14110 3925 22 6.2 26 485000 89 1270
250 ND 355M2-4 1490 955 94.7 932 0.89 16023 4419 21 6.5 31 5.67000 90 1700
280 ND 355L1-4 1490 955 94.7 932 0.89 17950 4950 21 6.5 28 616000 20 1790
315 ND355L2-4 1490 955 948 943 082 20190 5447 21 6.0 33 666000 90 1890
4-Pole

Aluminium Construction

[outputl  Model Spoed Emdan:r Power Factor _Full load __Locked Rotor Pull Out Moment of Noise Level Weight

75% 50% Torque Current Torque Current Torque Ineria  dB(A)  (Kg)
(lew) | m“wm‘m}mmmmm

006 |AD 56 1-4 1310 560|560 530 058 04 03 21 33 24 000015 4
009 ADS62-4 1310 560 (560 530 061 67 04 21 33 24 000015 4
012 |AD63 1-4 1310 570580 530 072 09 04 21 32 24 000018 5
018 |AD632-4 1310 600 610 570 074 13 07 21 33 22 000026 5
025 |AD711-4 1365 670|700 678 068 18 08 20 56 24 000120 8
037 |AD 7124 1370 690720 688 072 26 11 20 59 24 000160 8
055 |AD80 1-4 1410 726|725 686  0.74 87 15 21 46 24 000200

075 |AD802-4 1420 726|729 695 075 50 21 22 47 25 000200 13

11 |AD90S-4 1410 764 (766 750 078 75 28 20 5.2 24  0.00210
15 |AD90L-4 1410 791|790 785 078 02 37 20 51 25 000300
22 |AD 100L1-4 1415 840808 795 081 148 51 20 63 23 000670
3 |AD 100M2-4 1420 826 (827 803 081 202 68 22 57 27 000700
4 |AD112M-4 1440 844839 817 083 265 86 20 59 22 000950
55 |AD 13254 1450 864866 856 083 362 115 21 68 24 002150
75 |AD 122M-4 1450 883 |88.7 883 0.86 49.4 148 23 7.2 26 003020

2833822242 8L8L888

=



Crompton

Power Brlind
Tha Drive

6 Pols
Cast Iron Construction

Output Efficiency Power Factor Full load  Locked Rotor Pull Out Moment of Noise Level W
(ko] . Miﬂﬂ%ﬂ%!ﬁ% cosgd ‘Torque Current Torque Current Torque Inertia  dB(A) ;ﬁ'?;“

E ~ [®m) yoad LoadLoad (Nm)  (A) Ratio Ratio Ratio (Kgm?)

037 ND 80 1-6 915 635 632 555 0.71 39 1.2 18 32 20 0.00230 46 17
055 ND8026 915 692 700652 072 57 17 20 33 22 000300 50 20
075 NDS0S-6 920 718 716678 071 78 22 23 38 26 000300 53 23
11 ND9OL-6 925 731 735704 073 114 31 2.1 36 25 000350 59 26
15 ND 100L-6 925 TB2 758 724 0.75 155 4.0 23 4.3 28 0.00620 62 32
22 ND 112M-6 935 793 TBY 759 Q.77 225 55 2.2 4.4 25 0.01400 65 42
3 ND 13256 960 824 8525 80.1 Q77 298 T2 21 58 3.0 0.02900 66 59
4 ND132M1-6 960 836 839 824 077 398 94 2.1 6.4 27 003600 66 68
55 ND132M2-6 960 850 853 833 079 547 124 20 65 25 004500 67 80
75 ND 160M-6 965 B87.7 880 BTO 0.79 742 164 20 54 23 0.08800 Ti 102
11 ND 160L-6 970 888 891 8BTS 0.80 1083 235 20 55 23 0.11500 72 126
15 ND 180L-6& 970 891 894 879 0.82 147.7 a3 21 6.2 25 0.20700 T2 185
185 ND200L1-6 975 919 915904 081 1812 378 20 62 28 031500 73 238
22 ND200L2-6 975 900 889878 085 2155 447 20 589 25 038000 73 243
30 ND 225M-6 980 920 918 208 0.86 2923 576 20 6.4 25 0.54500 T 309
37 ND 250M-6 980 921 91.7 200 0.86 3606 7.0 23 6.7 26 0.83400 TG 369
45 ND 28056 980 926 925 91.7 0.87 4385 84.9 21 6.7 30 1.38000 76 518
55 ND280M-6 980 930 930922 088 5360 1021 21 63 25 165000 76 565
75 ND 31556 985 9043 940 930 086 7272 1405 20 70 27 410000 80 840
90 ND315M-6 985 948 945930 086 8726 1677 20 62 24 430000 B0 930
110 ND 315L1-6 990 947 945 932 087 10611 2029 24 6.7 28 545000 az 1010
132 ND 355026 9390 945 915 938 0.87 12733 2439 23 68 29 6.12000 82 1140
160 ND 355M1-6 992 952 949 930 0.88 15434 2802 19 6.5 25 885000 85 1520
185 ND 355M2-6 992 952 949 930 0.88 17846 3355 19 6.5 25 9.25000 85 1580
200 ND355M3-6 992 961 958 942 089 19293 3553 20 63 25 955000 85 1630
220 ND 355L1-86 992 981 958 942 0.89 21222 3908 19 6.3 25 10.,05000 86 1740
250 ND3s5L2-6 992 953 959 940 0.80 24116 4383 19 6.0 24 10.60000 87 1880
315 ND3S5L3-6 990 954 953947 080 30340 5574 20 62 24 1100800 85 2570

6-Pole
Aluminium Construction

loutout _Moder Speed_ Efficiency Power Factor _Full load | Locked Rotor Pull Out Moment of Roise Level Weight
(kw) (rpm) 100%75% 50% oo, Torque Current Torque Current Torque | dB(A) [I(y]
Load Load Load (Nm) | (A) | Ratio | Ratio Ratio (Kgm

037 ADBO1-6 915 621 617 540 0.70 39 13 19 4.7 20 000230 46 1"
055 AD 80 2-6 915 650 658 61.0 0.72 5.7 18 19 4.7 21 0.00300 50 12
0.75 | AD 905-6 920 690 688 636 072 78 23 20 55 21 0.00300 53 16
1.1 |AD 90L-6 925 720 724 893 073 114 31 20 55 21 0.00350 59 18
15 |AD 100L-6 925 7T60 756 722 0.75 155 4.0 20 5.5 21 0.00620 62 24
22 |AD112M-6 | 935 790 784 7586 0.76 224 55 20 6.5 21 0.01400 B5 30
3 AD 13256 960 B81.0 811 787 0.78 298 7.4 2.1 6.5 21 0.02900 &6 46
4 AD 132M2-6 960 820 823 B0B 0.76 395 95 21 65 21 0.03600 66 52
55 |AD 132M2-6 960 B840 843 823 076 S4.4 128 2.1 6.5 2.1 0.04500 &7 62




Crompton

Powrr Belubnd
Tha Drive
8 Pols
Cast Iron Construction
I Efficiency Power Factor _Full load _Locked Rotor Pull Out Moment of Noise Level Weight
Oupit Model - Sheet 100% 75% 50% cosg me‘fmﬁnmt ‘I'm inertia  dB{A]  (Kg) |
fiow rpm) (Nm) _(A) Ratio Ratio _(Kgm®)
018 ND801-8 680 586 54.0 450 0.62 25 08 21 32 24 000200 50 17
025 NDBD2-8 690 606 552 451 0.61 35 1.0 20 33 22 000300 50 18
037 ND 9205-8 700 651 849 562 061 50 14 1.9 36 25 000400 53 23
055 ND 20L-8 700 685 671 593 0.60 75 20 19 3.5 23 000400 54 25
075 ND100L1-8 700 706 702 625 0.66 102 24 21 40 24 000800 56 33
11 ND100L2-8 700 729 721 688 069 150 33 22 ar 24 001000 59 38
15 ND112M-8 703 767 768 737 069 20.5 4.3 22 42 27 001700 &1 50
22 ND1325-8 705 798 794 775 072 298 5.8 21 47 25  0.03000 B85 58
3 ND132M-8 TO05 B07 BOS 795 0.75 4086 75 2.1 46 26  0.04000 65 68
4 ND180M1-8 710 B1.8 B15 803 074 538 100 2.1 4.5 27 007500 67 113
55 ND180M2-8 715 862 858 846 0.75 T35 129 23 5.0 28  0.09300 68 123
75 ND160L-8 720 869 867 849 078 93.5 173 22 8.0 28 012500 &9 150
11 ND180L-8 730 876 875 859 0.77 1439 247 22 55 25 020200 70 178
15 ND200L-8 730 894 89.1 882 077 1962 331 21 5.8 28 033800 71 233
185 ND2255-8 731 90.1 895 888 0.76 2817 410 21 6.3 25 049000 73 283
22 ND225M-8 T35 906 902 838 078 2859 473 22 6.2 25 055000 73 323
30 ND250M-8 735 906 904 836 0.81 3808 621 23 58 3.0  0.3000 T4 400
37 ND280S-8 T35 913 912 9041 081 4807 T60 21 6.3 28  1.39000 75 515
45 ND280M-8 T40 912 90.7 89S 0.82 5807 914 19 6.4 25 1.65000 76 566
55 ND3155-8 740 935 8932 925 0.82 7098 1090 1.9 6.8 27 479000 78 750
75 ND315M-8 741 939 939 916 083 9679 1462 20 70 24 558000 78 970
90 ND315L1-8 741 939 S840 920 0.82 11599 1776 24 6.7 28 637000 80 1060
110 ND 315L2-8 741 942 8941 925 0.82 177 2164 24 6.4 25 723000 a1 1170
132 ND 355M1-8 741 952 949 936 0.84 17035 2508 1.7 58 23  10.54000 az 1560
160 ND 355M2-8 743 953 951 942 0.84 20565 303.7 15 55 23 1172000 86 1650
185 ND 355L1-8 743 953 951 942 0.84 23778 ;512 15 55 23 1232000 86 1800
200 ND 355L2-8 743 955 955 946 0.86 25077 3700 1.3 6.0 33 1285000 87 1940

1 | BOM1-4 055 15 35 5-50 5-100 2 10 28 1.7
2 |somMz-4 | 075 | 2 a7 | 550 5-100 2 10 28 186
3/90s.4 | 11 | 28 | 7 | 550 | 5-100 2 10 28 16
4 904 | 15 | 37 |95 | 550 | 5-100 2 10 28 16
5 |100L1-4 | 22 | 541 | 14 | 550 | 5-100 2 10 28 15
6 100024 3 68 19 | 5-50 5-100 2 10 28 15
7 |1M12M4 | 4 | 87 | 254 | 550 | 5-100 2 10 281 15
8 13254 55 | 114 | 35 | 550 | 5-100 2 10 28 14
9 | 132M-4 75 153 47.7 | 5-50 5-100 2 10 28 14
10(160M4 11 | 221 | 70 | 550 | 5-100 2 10 28 14
11[160L-4 | 15 | 301 | 955 | 550 | 5-100 2 10 28 14
12 [180M-4 | 185 | 354 (1171 | 550 | 5-100 2 10 28 12
13 | 180L-4 22 | 416 140.9| 5-50 5-100 2 10 28 12
14 | 200L-4 30 | 559 (1909 550 | 5-100 2 10 28 12
15 |2256-4 37 | 682 |2355| 550 | 5-100 2 10 28 12
16 | 225M-4 45 825 2864 5-50 5-100 2 10 28 11
17 |250M-4 = 55 | 101  |3501| 350 | 5-100 17 10 28 11
18 28084 = 75 | 1323 (4771 | 350 | 5-100 1.7 10 28 1
19 | 280M-4 90 | 1574 5729 | 3-50 5-100 1.7 10 28 1
20 [3155-4 = 110 | 1914 |7002 | 350 | 5-100 17 10 28 1
21 |315M4 | 132 | 2276 (8403 | 350 | 5-100 17 10 28 1
22 |315L1-4 @ 160 | 2742 10185 3-50 | 5-100 17 10 28 1
/_ 23 | 315L.2-4 200 | 3416 12732 3-50 5-100 1.7 10 28 [i}:]
62



Crompton

Pevrrr Belalnd

Tha Drive
—_

Foot Mounted Dimension (B3)
Muminul_rn Construction

F
* g
RN
nI
(Frame o A |a2 B ¢ D DB E F|G GA M
roaty ] _ | K | AB AC HD | L
56 ALL 90 | 45 71 | 36 | 9 | M3Xs8 20 3 |72 (102 S6 | & | 110 120 154 | 192
63 ALL 100 | 50 80 | 40 | 11 M4X10 28 4 | 85 |125 63 | 7 | 121 125 | 183 | 223
71 ALL 112 | 56 90 | 45 14  MS5X12 30 5 1 | 16 | 71 | 7 139'. 145_ 193 | 248
80 ALL 125 | 625 100 | 50 '_ 19 MeX16 40 6 |155 /215 80 ! 10 | 150 160 | 209 | 291
a0s ALL 140 | 70 100 | 56 | 24 Msx19 50 8 | 20 | 27 90 | 10 | 169 180 | 229 | 355
o0L ALL 140 | 70 125 | 56 | 24 M8X19 50 8 | 20 | 27 90 | 10 169 180 | 250 | 393
100L ALL 160 | 80 140 | 63 | 28 M10X22 60 8 | 24 | 31 100 | 12 | 191 200 | 250 | 393
112M  ALL 190 ( 95 140 | 70 | 28 M1OX22 60 8 | 24 | 31 | 112 | 12 | 222 225 285 | 402
1328 ALL 216|108 140 | 89 | 38 mM12x28 80 10 | 33 KL 132i 12 | 255 | 265 | 324 | 506
132M  ALL 216 (108 178 | 83 | 38 M12X28 80 10 | 33 | 41 132 | 12 | 255 265 | 324 | 506
Cast Iron Construction
Gze Pole A A2 B C D DB E F G H K AB AC HD L
) ALL 125 625 100 50 19 MBX16 40 6 155 80 | 10 160 166 225 206
905 ALL 140 70 100 56 24 MBX19 50 8 20 90 10 180 188 245 318
a0L ALL 140 70 125 56 24 MEX19 S50 8 20 90 10 180 188 245 343
100L ALL 160 B0 140 B3 28 MIOX22 60 8 24 100 12 200 210 270 380
112M  ALL 190 95 140 70 28 MI10X22 60 8 24 | 112 | 12 226 230 310 400
1325 AL 216 108 140 B9 38 MI2X28 B0 10 33 | 132 | 12 282 270 350 470
132M ALL 216 108 178 89 38 MI2X28 80 10 33 132 12 282 270 350 510
160M  ALL 254 127 210 108 42 MI6X36 110 12 37 160 15 314 325 420 615
160L ALL 254 127 254 108 42 MI16X36 110 12 37 160 15 314 325 420 660
180M  ALL 279 1385 241 121 48 MI6X36 110 14 425 180 15 2349 366 455 700
180L ALL 279 1395 279 121 48 MIEX36 110 14 425 180 15 349 366 455 740
200L ALL 318 159 305 133 55 M20X42 110 16 49 200 19 388 410 510 770
2255 ALL 356 178 286 149 60 M20X42 140 18 53 225 19 431 460 550 B10
205M 2 35 178 311 149 55 M20X42 110 16 49 225 19 431 480 550 835
468 356 178 311 149 60 M20X42 140 18 53 225 19 431 460 550 845
250M 2 406 203 349 168 60 M20X42 140 18 53 250 24 484 500 615 920
468 406 203 349 168 65 M20X42 140 18 58 250 24 48B4 500 615 920
2808 2 457 2285 368 190 65 M20X42 140 20 58 280 24 542 570 670 980
| 458 457 2285 368 190 75 M20X42 140 18 675 280 24 542 570 670 980
— 2 457 2285 419 190 65 M20X42 140 20 58 280 24 542 570 670 1040
468 457 2285 419 190 75 M20X42 140 18 675 280 24 542 570 670 1040
3158 2 508 254 408 216 B5 M20X42 140 22 58 315 28 628 640 848 1190
468 S0B 254 406 216 80 M20X42 170 18 71 | 315 28 628 640 848 1220
315M 2 508 254 457 216 65 M20X42 140 22 2 S8 315 28 628 640 848 1290
468 508 254 457 216 80 M20X42 170 18 71 315 28 628 640 848 1330
315L 2 508 254 508 216 65 M20X42 140 22 58 315 28 628 640 848 1290
468 508 254 508 216 B0 M20X42 170 20 71 315 28 628 640 848 1330
355M 2 610 305 560 254 75 M24X50 14D 25 675 355 28 726 710 1040 1495
468 B10 305 560 254 95 M24X50 170 20 86 355 28 726 710 1040 1540
— 2 610 305 630 254 75 M24X50 140 25 | 675 355 | 2B 726 710 1040 1495
468 610 305 630 254 95 M24X50 170 25 8 355 28 726 710 1040 1540
~
47 )



Crompton

FPowrer Bekind
Tha Dvive
Flange Mounted Dimension (BS5)
Aluminum Construction
F [ T, . ;
| R @il n&p |
a . i I3 L e z N = .,--"%'_ ~4 a
@ et | ’ - b W,
| N T _!_I‘ oot //..a%,:.,:a%\
D [ i, e X0 )
- 1 L P, -l | T
« = ‘_ﬂ"ﬁ s --E 1t @ | @ L@ —(o—
. A\ 'if/k) -+ r"lflr /
I Ll ; L ‘ﬁ%‘:':::cf;}?/
] T 1 |- 1 i i \\-_ '-.""2:,' _‘__..-""
Frame pgle A A/2 C D DB E F G GA M N P s T Flang pc ap L
Size holes
56 ALL 90 45 36 9 M3X8 20 3 72 102 100 80 120 7 3 4 120 98 192
63 ALL 100 50 40 11 M4X10 23 4 85 125 115 95 140 10 3 4 125 120 223
71 ALL 112 56 45 14 M5X12 30 5 11 16 130 | 110 (160 | 10 35 4 145 122 248
80 ALL 125 625 50 19 MeEX16 40 6 |155 215 165 130 200 12 35 4 160 129 291
905 ALL 140 70 56 24 M8X19 50 8 20 | 27 165 130 200 12 35 4 180 139 349
90L ALL 140 70 56 24 M8X19 50 8 20 | 27 1685 130 200 12 35 4 180 139 349
100L ALL 160 B0 B3 28 MIOX22 60 8 | 24 | 31 25 180 250 15 4 4 200 150 393
112M ALL 190 95 70 28 M10X22 60 8 24 31 215 180 250 15 4 4 225 173 402
1328 ALL 216 108 89 38 M12X28 80 10 33 41 265 230 300 15 4 4 265 192 506
132M  ALL 216 108 83 38 MI12X28 80 10 33 41 265 230 300 15 4 i 265 192 506
Cast Iron Construction
E;'ﬁ“;‘mnuzncnnnErﬂ}uunpsrlm"““mml.
80 ALL 19 19 100 50 19 MBX16 40 6 _15.5;21.5}65 130 (200 | 12 | 35 4 166 145 296
90S ALL 24 24 100 50 | 24 MBX19 50 8 | 20|27 165 130 200 12 |35 4 188 155 318
Q0L ALL 24 24 125 56 | 24 MBX19 50 8 | 20|27 165 130 200 |12 |35 4 188 156 343
100L ALL 24 24 140 63 | 28 MIOX22|50 8 | 20|31 (215 180 250 |15 | 4 4 210 170 380
112M ALL 28 28 140 70 | 28 MI2X28 B0 B8 | 24 | 31 (215 180 (250 | 15 | 4 4 230 198 400
1325 ALL 38 38 140 89 38 M12xX28 80 10 | 33 |41 265 230 300 | 15 | 4 4 270 218 470
132M ALL 38 | 38 178 89 | 38 M12X28 | 80 10 | 33 | 41 (265 |230 300 |19 | 4 4 270 218 310
160M ALL 42 42 210 108 | 42 M16X36 110 12 | @37 | 45 |300 250 350 | 19 | 5 4 325 260 615
160L ALL 42 42 254 108 | 42 MI16X36 110 12 | @7 | 45 |300 250 350 | 19 | 5 4 325 280 670
180M ALL 48 48 241 121 48 MI16X36 110 14 I42.5:51.5i300 250 A0 |12 | 5 4 366 275 TOO
180L ALL 48 | 48 279 121 | 48 MI16X36 | 110 14 _425251.5;300 250 ABO| 19| 5 4 366 275 T40
200L ALL 55| 55 305 133 | 55 M20X42 110 16 | 49 | 50 (350 300 (400 |19 | 5 4 410 310 770
2255 ALL 60 60 286 140 | 60 M20X42 140 18 | 53 | 64 400 350 450 | 19 | 5 8 460 325 810
225M 2 55| 55 311|140 | 55 M20X42 110 16 . 49 | 59 (400 350 450 | 19 | 5 B 460 325 835
468 60 60 311 149 | 60 M20X42 140 18 | 53 | 64 _'400 350 450 |19 | 5 B 460 325 845
s 2. 60| 60 349 168 | 60 M20X42|140 18 | 53 | 64 1500 450 550 19 | 5 8 500 365 920
468 65 65 349 16&_65 M20x42 | 140 15_58 59:5004505513 19| 5 8 500 385 920
2 65 65 368 190 | 65 M20X42 140 18 | 58 | 69 (500 450 550 | 19 | 5 8 570 390 980
2805 468 75| 75 368 190 | 75 M20X42 140 20 [67.5/795 500 450 550 | 19 | 5 8 570 390 980
ogom 2 65 65 419 190 | 65 M20X42 140 18 | 58 | 6O |500 450 550 |19 | 5 B 570 390 1040
468 75 75 419 190 | 75 M20X42 140 20 |67.5/79.5/500 450 550 |24 | 5 8 570 390 1040
sisg 2 65 65 406 216 | 65 M20X42 140 18 | 58 | 69 (600 550 660 |24 | 6 8 640 533 1190
468 80 B0 406 216 | 80 M20X42 170 22 | 71 | 85 |600 | 550 €60 | 24 -] 8 B40 533 1220
315M 2 65 65 457 216 | 65 M20X42 140 18 | 58 | 69 Eﬂﬂ 550 660 | 24 5] 8 640 533 1290
| 488 B0 80 457 216 | 80 M20X42 (170 22 | 71 |85 [600 550 660 | 24 | 6 8 640 533 1330
a1sL 2. 65| 65 508 216 | 65 M20X42 140 18 | 58 | 69 (600 550 660 |24 | 6 8 640 533 1200
468 80 | 80 508 216 | 80 M20X42 170 22 | 71 |85 (600 550 660 24 | 6 8 640 533 1330
assM | 2 75| 75 560 254 | 75 M24X50 140 20 675795 740 680 800 |24 | 6 8 710 685 1495
; 468 95 95 560 254 | 95 M24X50 170 25 | 86 (100|740 680 800 |24 | 6 8 710 685 1540
ass. 2. 75 75 630 254 | 75 M24X50 140 20 |675/795(740 680 800 | 24 | 6 B 710 685 1495
(-" 468 95 95 G630 254 | 95 M24X50 170 25 | 86 [100 740 680 800 | 24 6 8 710 685 1540
84



Crompton

Porer Belind

Tha Drive
e

Flange Mounted Dimension (B35)
Aluminum Construction

T e —
r |
T s {!; —-'?—— ~i§>
[ : S T,
%2- D8 2 ;."‘ﬁ/ %\\ \"
o :*@ﬁuﬁi
L g o el
A x\\({\;\‘ --ﬁ%ﬁ'{
] _._‘_1_ij-_§
A |
I
Frame Flang
mFﬂIelBGDﬁ!EFGMHKHHFSTWEAGHDL
56 ALL 90 71 36 9 M3X8 20 3 72 102 56 6 100 B0 120 7 3 4 110 120 154 192
63 ALL 100 B0 40 11 M4X10 23 4 85 125 63 7 115 495 140 10 3 4 121 125 183 223
71 ALL 11290 45 14 MSX12 30 5 11 16 71 7 130 110 1680 10 35 4 139 145 193 248
80 ALL 125100 50 19 MBX16 40 6 155215 80 10 165 130 200 12 35 4 150 160 209 291
805 ALL 140100 56 24 MBX19 S50 & 20 27 90 10 165 130 200 12 35 4 169 180 229 349
90L ALL 140125 56 24 MBX19 50 & 20 27 90 10 165 130 200 12 35 4 169 180 229 349
100L ALL 160140 63 28 M10X22 60 8 24 31 100 12 215 180 250 15 4 4 191 200 250 393
112M  ALL 190140 70 2B MIDX22 60 B 24 31 112 12 215 180 250 15 4 4 222 225 285 402
1325 ALL 216140 B9 38 M12X28 B0 10 33 41 132 12 265 230 300 15 4 4 255 265 324 506
132M  ALL 216178 89 38 MI2X28 80 10 33 41 132 12 265 230 300 15 4 4 255 265 324 506
Cast Iron Construction
'm'“""mnncn DB E FGMHKHHP!TIM"B"WHAGHDL
B0  ALL 125100 50 19 MEX16 40 6 155215 80 10 165 130 200 12 35 4 160 166 225 206
805 ALL 140100 56 24 MBX19 50 8 20 27 S0 10 165 130 200 12 35 4 180 188 245 318
S0L ALL 140125 S6 24 MBX19 S50 8 20 27 90 10 165130 200 12 35 4 180 ' 188 245 343
100L ALL 160140 63 28 M10X22 50 8 20 31 100 12 215 180 250 15 4 4 200 210 270 380
112M ALL 190 140 70 28 MI0X22 60 B8 24 31 112 12 215 180 250 15 4 4 226 230 310 400
1325 ALL 2156140 89 38 M12M28 80 10 33 41 132 12 265 230 300 15 4 & 282 270 350 470
132M ALL 216 178 89 38 MI2X28 BO 10 33 41 132 12 285 230 300 15 4 4 282 270 350 510
160M ALL 254 210 108 42 M1BX36 110 12 37 45 160 15 300 250 350 19 5 4 314 325 420 615
160L ALL 254 254 108 42 M16X36 110 12 37 45 160 15 300 250 350 19 5 4 314 325 420 670
180M  ALL 279 241 121 48 M16X36 110 14 425 515 180 15 300 250 350 19 5 4 349 366 455 700
180L ALL 279 279 121 48 M1BX36 110 14 425 515 180 15 300 250 350 19 5 4 349 366 455 740
200L ALL 318 305 133 55 M20X42 110 16 49 59 200 19 350 300 400 19 5 ] 388 410 510 770
2255 ALL 356 286 149 60 M20X42 140 18 53 64 225 19 400 350 450 19 5 ] 431 480 550 810
oospm 2 356311149 55 M20X42 110 16 49 59 225 19 400 350 450 19 5 8 431 460 550 835
468 356 311 149 60 M20X42 140 18 53 64 225 19 400 350 450 19 5 ] 431 460 550 B4S
250M 2 406 349 168 60 M20X42 140 18 53 64 250 24 500 450 550 19 5 B 484 500 615 920
468 406 349 168 65 M20X42 140 18 58 69 250 24 500 450 550 19 5 8 484 500 615 920
2808 2 457 368 190 65 M20X42 140 18 58 69 280 24 500 450 550 19 5 ] 542 570 670 980
4,68 457 368 190 75 M20X42 140 20 675 795 280 24 500 450 550 19 5 ] 542 570 670 980
280M 2 457 419 190 65 M20X42 140 18 58 69 280 24 500 450 550 19 5 8 542 570 E70 10-10'
468 457 419 190 75 M20X42 140 20 675 795 280 24 500 450 550 19 5 B 542 570 670 1040
3158 2 508 406 216 65 M20X42 140 18 58 69 315 28 600 550 660 24 6 ] G28 640 848 1190
468 508 406 216 80 M20X42 170 22 71 85 315 28 600 550 660 24 & B 628 B40 848 1220|
315M 2 508 457 216 65 M20X42 140 18 58 69 315 28 600 550 660 24 6 8 G628 640 B48 1290
468 508 457 216 80 M20X42 170 22 71 85 315 28 600 550 660 24 6 B 628 640 848 1330
315L 2 508508216 65 M20X42 140 18 58 69 315 28 600 550 680 24 6 ] 628 640 B48 1290|
468 508 508 216 80 M24X50 170 22 71 85 315 28 600 550 660 24 6 B 628 £40 848 1330
255M 2 610 560 254 75 M24X50 140 20 675 795 355 28 740 680 800 24 6 -] 726 710 10401495
. 4568 610 560 254 95 M24X50 170 25 86 100 355 28 740 680 BOD 24 6 8 726 710 10401540
3551 2 510630254 75 M24X50 140 20 675 795 355 28 740 680 800 24 & B 726 710 10401495
468 610 630 254 95 M24X50 170 25 B6 100 355 28 740 680 B0D 24 6 ] 726 710 10401540]

Y



Crompton

FPewre Bekind
Ths Drive

Face Mounted Dimension (B14)
Alumlnu Construction

S — =
I ’|@I|
o = 9
[ i l
- A A I A
"'J.' T
L
" Frame Flang
Size Pole DB E F G GA M N P S T hol AC AD L
56 ALL 9 Maxa 20 3 2 102 65 50 80 M5 2 4 120 a8 182
63 ALL 11 MEX10 23 4 B5 125 75 60 90 M5 25 4 125 120 223
71 ALL 14  M5X12 30 5 11 16 8 70 105 M6 25 4 145 122 248
BO ALL 13  MBX16 40 6 155 215 100 B0 120 M6 3 4 160 129 291
905 ALL 24  MBX19 50 B 20 27 115 95 140 MB 3 4 180 139 349
Q0L ALL 24 MBX19 S0 8 20 27 115 95 140 M8 3 4 180 139 349
100L ALL 28 MI0X22 60 B 24 31 130 110 160 M8 35 4 200 150 393
112M ALL 28 MI0X22 60 8 24 3 130 110 160 MB35 4 225 173 402
1328 ALL 33 Mi12X28 B0 10 33 41 165 130 200 M0 35 4 265 192 506
132M ALL 38 MI12X28 B0 10 33 41 165 130 200 MI10 35 4 265 192 506
Cast Iron Construction
Frame Flang
S Pole D DB E|F|(G GAM|N P s T (8% ac ap L
80 ALL | 19 MeXi6 | 40 | & |155 215 100 80 120 M& 2 4 166 145 296
90S ALL | 24 WMBX19 50 | 8 | 20 27 11595 140 MB 3 4 188 155 318
o0L ALL 24 M8X19 50 | B |20 27 115 95 140 M8 3 4 188 155 343
100L ALL 28 MIOXM22 | 60 B |24 31 130 | 110|160 M8 35 4 210 170 380
112M ALL 28 MIOXM22 | 680 8 |24 31 130|110 160 M8 35 4 230 198 400
1328 ALL 38 M12X28 B0 | 10 | 33 41 | 165 | 130 200 MI0 35 4 270 218 470
132M ALL 38 M12xX28 80 | 10 | 33 41 | 165 130 200 MI10 35 4 270 218 510

The mounting arrangements of the moters comply with IEC34-7 Recommendation. There are four basic
wmmuuummmw

M B3
v B3 B6 B7 B8 V5 V6
Blaginie -+ | 88 N 7% '
Manufacture ﬂ:mlu] 56-400 56-160
Fundamental arrangement BS <z
- e vi v3 B35 V15 V36
== | B [T
Range of )
Manufacture (framesize) | S©6-280 56-355 56-160 56-400 56-160
B14
Mounting arrangement B14 B34 vis V58 V19 V69
Diagram
o AN tf:mnbol 56-132

dos



Crompton

FPowrr Belkind
~ TheDrive
® BB O G @
1. B5 Flange 15. Rotor 22. Fan clamp
2. Gasket 16. Circlip 23. Terminal Box Lid
3. B14 Flange 17. Rear Endshield 24. Terminal Box Base
4. Frame 18. Fan 25. Cable gland
5. Key 19. Fan cowl 26. Terminal board
6. Oil Seal (V ring) 20. Screw
7. Bolt 21. Washer
THREE-PHASE MOTOR
BEARING SIZE MAIN DATA FOR TERMINAL BOX
Frame , _  Drive End Non-Drive End Classified Frame Max  Entery hole size
Size International type International type number size .F.Amps Internaion standard
_56 | 2-4 | 620122 | = 620122 1 H56-80 & 26 2xM20x1.5
63 | 2-4 | 6012z | 620122 2 | H0-100| 68 | 2xM25x15
7 | 2-6 | 620222 _ 620222 3 |H112-132] 154 | 2xM32x1.5
80 | 2-8 | 620422 | 620422 4 | H160-180 425 |  2xM4Ox15
90 | 2-8 620522 620522 5 | H200-225 842 | 2xM50x1.5
100 | 2-8 | 620622 620622 6 | H250-280 1666 = 2xM63x15
112 [2-8 | 63062z | 63062z 7 | H31s | 388 | 2xMedx15
132 | 2-8 630822 630822 8 H355 | 546 | 2xM63x1.5
160 | 2-8 |  630922C3 |  63092ZC3 9 H400 | 600 3xM63x1.5
180 | 2-8 6311C3 ' 6311C3
200 | 2-8 6312C3 6312C3
225 | 2-8 | 6313C3 6313C3
250 | 2-8 | 6314C3 ' 6314C3
2'&} 2 6314C3 6314C3
4-8 6317C3 6317C3
s |2 6317C3 6317C3
4-10 NU319C3 6319C3
255 2 | 63193 6319C3
4-10 | NU322C3 _ 6322C3
400 | 4-10 NU326C3 6326C3

W




Crompton

Powrer Behind
Ths Drive

%

TECHNICAL DATA OF CROMPTON 220 V.

Franme Rated Full load Exciter Frequency Full load Effciency m Direct on  Directon  Locked Mean sound

e P e " o s b s ™ ™ it
power per minule on no load
“ Type  Output Amps Voltage Frequency Speed EFF PF LRT BOT LRA _ Noise
W) (A) ) [r/min) (%) Cosd  RLT RLT LodB{A)
MLB3M1-2| 018 137 220 50 2790 65 | 092 04 1.7 50 70
MLE3M2-2 | 025 187 220 50 2790 66 092 0.4 1.7 7.0 70
Franme Rated Full load Full load Excitrer Effciency Power Direct on Direct on | Direct on Mean sound Weight
reference power sreed in | current Voltage factor ine starting ine pull out ine starting pressure
and size revolutions at rated forque ratio torque ratic current level@im on
SiTan per minute voltage - - . ratio noload
Type Output Speed Amps Voltage EFF. P.F. LAT BDT LRA Noise  Weight
(KW)  (r/min)  (A) ) (%) Cosd RLT RLT RLA  LwdB (A)
ML711-2 | 037 | 2800 | 27 | 220 | 67 092 18 16 55 72 10
ML7122 | 055 | 2800 | 39 | 220 | 70 092 1.8 16 55 72 1
ML711-4 | 025 | 1400 | 20 | 220 | @2 092 1.7 16 50 67 g
ML712-4 | 037 | 1400 | 28 | 220 | 65 092 1.7 16 50 67 10
MLBO1-2 | 075 | 2800 | 49 | 220 | 73 095 1.8 16 55 75 14
MLBO2-2 | 1.1 2800 70 | 220 75 085 1.8 16 55 75 15
ML801-4 | 055 | 1400 395 | 220 69 092 17 | 18 50 70 13
MLB02-4 | 075 | 1400 505 | 220 71 | 095 17 16 | 50 70 | 14
MLS0S-2 | 15 | 2800 94 | 220 | 76 | 095 18 | 18 | 55 78 22
MLSOL-2 | 22 | 2800 | 187 | 220 | 77 | 095 1.7 16 55 78 24
MLS0S4 | 11 | 1400 | 73 | 220 | 72 | 095 | 1.7 | 16 | 50 73 21
MLSOL4 | 15 | 1400 | 97 | 220 | 74 | 095 | i.7_| 16 | S0 73 23
MLIOOL-2 | 3 | 2800 | 182 | 220 | 79 | 095 1.7 16 6.0 83 24
MIOOL1-4 | 22 | 1400 | 139 | 220 | 76 095 1.7 16 50 78 32
MLI0OL2-4) 3 | 1400 | 184 | 220 | 78 | 085 1.7 16 5.0 78 33
ML112M-2| 37 | 2800 | 221 | 220 | B0 | 085 | 17 | 16 | 60 | 8 | 46
ML112M-4 | 37 | 1400 | 224 | 220 | 79 | 095 | 17_| 16 | &5 83 44
ML132-2 | S5 | 2800 | 325 | 220 | 81 |o085 | 17 | 16 | 60 88 66
ML132-4 | 55 | 1400 | 329 | 220 80 |oss | 17 | 18 | 55 83 70



Crompton

Povwer Belind
Ths Dvlve
Frame with feet and end-shield with foot (B3)
"H.\ 4
““““ | o
]
C D E F G H K AC L
z 40 1 23 4 85 | 63 7 l 1
7 45 14 30 5 n|n 7 | _ 136 250
80 24 125 100 50 | 19 40 6 | 156 | 80 | 10 | 153 | 125 @ 227 160 310
90S 24 140 100 56 | 24 50 8 20 | 90 | 10 | 172 | 156 | 248 175 340
0L 24 140 125 | 56 24 S0 8 | 20 | 90 | 10 | 172 | 156 | 246 175 340
100L 24 160 140 @ B3 28 60 8 24 | 100 | 12 | 200 | 172 | 250 196 425
112M 24 190 140 70 28 60 8 | 24 | 112 | 12 | 230 | 181 | 285 220 450
1325 24 216 140 89 38 80 10 33 | 132 12 2680 | 186 | 330 259 485
132M 24 216 178 89 38 BO 10 3 132 12 260 224 330 259 525
Frame with feet and end-shield with foot (B35)
L i
m3fi == 20
- aw e = 1 %;} L Sormare
= J , |
=& 2] -
P Lommr-vamm
TWEPOLESE A B C D E F | G H K P N M S T AB|BB AC HD| L |
63 24 100 80 |40 | 11 23 | 4 |85 |63 7 |140| 95 [115] 10| 3 | 135|100 120 182 | 217
7124 80 80 45 | 14 1 30 | 5 |11 | 71 ¥ 18011101130 12  35)150| 112|136 202 | 250
80 24 125 100 50 19 40 6 156 80 10 200|130|165 12 35 153|125 160 227|310
90S 24 140 100 56 24 50 8 20 90 10 200 130|165 12 35| 172|156 175 246|340
90L 24 140 125 56 24 50 8 20 |90 10 200|130|165 12 35 172|156 175 246 340
W00L 24 160 140 63 28 60 8 24 (100 12 250|180 215 15 4 [200| 172 196 250 | 425
112M 24 190 140 70 28 60 8 |24 (112 12 250 180|215 15 4 | 230|181 220 285|450
1325 24 216 140 89 38 80 10 | 33 (132 12 300230285 15 4 | 260|186 259 330|485
132M 24 216 178 89 38 80 10 33 132 12 300 230|265 15 4 | 260|224 259 330525
Frame with feet and end-shield with foot (B5)
T
TYPE POLES D E F G P N M S T AD HF AC L
B3 24 1 23 4 85 140 a5 115 10 3 119 189 120 217
71 24 14 a0 5 11 160 110 130 12 35 13 211 136 250
80 24 19 40 (3] 155 200 130 165 12 as 147 247 160 310
a0s 24 24 50 8 20 200 130 165 12 a5 156 256 175 340
90L 24 24 50 8 20 200 130 165 12 a5 158 256 175 340
100L 24 2B 60 8 24 250 180 215 15 4 150 275 196 425
112M 24 28 &80 8 24 250 180 215 15 4 173 288 220 450
1325 24 38 B0 10 33 300 230 265 15 a 198 348 259 485
132M 24 s 80 10 33 300 230 265 15 4 198 348 259 525

3



Crompton

Powrer Behind
Tha Drive
—_—

MOUNTING DATA

Frame with feet and end-shield with foot/flange (B3/B34)

TYPEPOLES A B C | D E F |G H N P N M S T AB BB AC HD L
63 24 /100 80 | 40 |11 |23 4 |85 |63 95 140 95 115| M5 | 25 135 100 | 120 182 217
71 24|80 80 45|14 30 5 |11 |71 70 |105[110 85 | M6 |25 150|112 |136 202|250
80 24 |125(100 50 | 19 | 40 6 |156| B0 80 | 120|130 100 | M6 | 30 153 | 125 | 160 | 227 | 310
90S 24 (140|100 56 | 24 | 50 8 |20 |90 95 | 140|130 115 | M8 | 30 172 | 156 | 175 246 340
90L 24 |140 125 56 | 24 | SO 8 | 20 | 90 95 | 140|130 115 | M8 | 30 172 156 | 175 246 340
100L 24 | 160 (140 63 | 28 |60 8 | 24 [100 110|160 180 130 | M8 | 35 200 | 172 | 196 250 425
112M 24 | 190 (140 70 | 28 | 60 8 | 24 | 112 110|160 |180 130 | M8 | 35 230 | 181 | 220 | 285 450
1325 24 (216 140 89 [ 38 | 80 10 | 33 | 132 130 | 200 (230 165 M10| 35 260 | 186 (250 330 | 485
132M 24 [ 216 178 89 | 38 | 80 10 | 33 [132 130 | 200|230 165 | M10| 35 260 | 224 | 259 330 | 525

Frame with feet and end-shield with flange (B14)

=

TYPE POLES D E F G P N M s T AD HF AC L
63 24 T 23 4 85 140 95 | 115 M5 | 25 | 119 | 180 | 120 217
71 24 14 30 5 1 105 70 85 | M6 25 | 131 | 1985 | 136 = 250
80 24 19 40 6 | 156 | 120 | 80 | 100 @ M8 | 30 | 147 | 227 | 1860 310
90sS 24 | 24 50 8 20 | 140 95 | 115 M8 30 | 156 | 2435 175 340
oL 24 24 50 8 20 | 140 | 95 | 115 | MB | 30 | 156 | 2435 | 175 = 340
10L 24 28 60 | 8 | 24 | 160 110 | 130 M8 | 35 | 150 | 249 | 196 425
112M 24 | 28 60 8 24 160 | 110 | 150 M8 | 35 | 173 | 283 | 220 450
1328 | 24 @ 38 80 10 | 33 | 200 | 130 | 165 | M10 | 35 | 198 | 3275 | 250 @ 485
132M | 24 a8 80 10 | 33 | 200 130 | 165 @ M0 | 35 | 198 | 3275 250 = 525




{12 13 G4 s
1. BS Flange 11. Bearing
2. B14 Flange 12. Stator
3. Front Endshield 13. Feet
4. Frame 14. Nameplate
5. Key 15. Rotor
6. Oil Seal (V ring) 16. Gasket
7. Bolt 17. Rear Endshield
8. Spring Washer 18. Fan
9. Circlip 19. Fan Cover
10. Centrifugal Switch 20. Screw

aRBRBER

26.
27.
. Starting Capacitor

Crompton
Forrr Bokind
The Drive

18)

. Washer

. Fan Clamp

. Terminal Box Lid

. Terminal Box Base
. Cable Gland

Terminal Board
Running Capacitor

SINGLE-PHASE ASYNCHRONOUS MOTER

Crompton series capacitor asynchronous moter are single-phase the moter of capacitor start

and run. Main features : mall size high capacity, strong starting torque, high power factor
and efficiency, safety and reliability in running, simple construction and easymaintenance, it

possess frame No and capacity as three-phase asynchronous motors.

The rated frequency of motors in 50Hz while the rated voltage is 220V.
This series motors are of totally enclosed fan-cooted structure, class B insulation, IP44
degree of protection and IC411 method of cooling. The mounting dimensions of the motors

are all in conformity with IEC standards. Mounting types ;

Crompton series motors are suitable for machines and equipments such as full load start.

413)

N



Crompton

Pewrr Belind
Tha Drive

TECHNICAL DATA DC BRAKE “MOTORS”

Direct on| Direct on = Direct
mm;ﬁi-mfmﬁmﬁﬁﬂ Rated torque JW
and sips | POWOr COUL] me (& |70t toge | ot e & gtme
wWﬂWﬁmwgmwm&w“ﬁ“&“ﬂ v (s
(Kw) (r/min) (%) RLT RLA RLT jess than N.m
801-4 055 | 1390 16 705| 076 @ 22 | 60 | 22 7.36 100 | o2
802-4 075 1390 | 21 725| o076 | 22 | 0 | 22 7.36 100 | 02
90S-4 1.1 1400 | 27 79 | 078 | 22 | 65 | 22 147 100 | 025
90L-4 15 1400 @ 37 79 | 079 | 22 | 65 | 22 147 100 | 025
100L1-4 @ 22 1420 | 50 81 | 082 | 22 | 7 | 22 294 100 | 03
10024 | 3 1420 @ 68 825 081 | 22 | 7 | 22 29.4 100 | 03
112M-4 4 1440 | 88 845 082 | 22 | 7 | 22 392 170 | 03s
1325-4 55 1440 | 116 855| 084 | 22 | 7 | 22 736 170 | 04
132M-4 75 1440 | 154 87 | 085 | 22 | 7 | 22 736 170 | 04
160M-4 11 1460 | 226 88 | 084 | 22 | 7 | 22 1472 170 | 05
160L-4 15 | 1460 | 303 885 085 | 22 | 7 | 22 1472 170 | 05
180M-4 | 185 | 1470 | 359 |91 | 086 | 22 | 7 | 22 2158 170 | 06
180L-4 22 | 1470 | 425 915| 086 | 22 | 7 | 22 2158 170 | 06
200L-4 a0 | 1470 | 568 825| 087 | 22 | 7 | 22 2943 170 | o7
2255-4 a7 | 1480 | 698 918| 087 | 22 | 7 | 22 4145 170 | 08
225M-4 45 | 1480 | 842 923 088 | 22 | 7 | 22 415 170 | 08
801-2 075 | 2825 | 19 | 73 | 084 | 22 | 65 | 22 736 100 | 02
802-2 11 | 2825 26 76|08 | 22| 7 | 22 736 100 | 02
90S-2 15 | 2840 34 79| o085 | 22 | 7 | 22 147 100 | 025
90L-2 22 | 2840 | 47 |82 | 086 | 22 | 7 | 22 147 100 | 025
100L-2 3 | 2880 64 82 | 087 | 22 | T | 22 294 100 | 03
112M-2 a 2890 | 82 855| 087 | 22 | 7 | 22 392 170 | 035
13281-2 | 55 | 2000 | 111 862 088 | 22 | 7 | 22 736 170 | 04
132822 | 75 2000 @ 15 |862| 088 | 22 | 7 | 22 736 170 | 04
160M1-2 | 11 | 2030 | 218 |872| 088 | 22 | 7 | 22 147.2 170 | 05
180M2-2 | 15 2930 | 204 882| 088 | 22 | 7 22 1472 170 | 05
160L2 | 185 2030 355 89 | 089 | 22 | 7 | 22 1472 170 | 05
180M-2 = 22 | 2040 422 89 | 089 | 22 | 7 | 22 2158 170 | 06
200L1-2 | 30 2050 | 569 (90 | 089 | 22 | 7 | 22 2943 170 | 07
200022 | 37 2050 | 698 905| 089 | 22 | 7 | 22 2943 170 | 07
 225M-2 45 2070 | 839 915| 0sa | 22 | 7 | 22 4415 170 | 08

464+

-

=4



Crompton

Mounting and overall dimension

Mounting arrangements B3

Power Belibnd
Tha Dvive

F —
! D[ I i" o
"—51“' o U RPN /== |
N = { G
F".'._.ﬁ = H— g - =
S
< [} A
M
Frame FRAME Shaft End '
Poles : . — . . ,
e | ™™ ' AJaR| B [c [ W [K[D R F[a | 0|4 A W
80 24 (125|625 .0 | S0 | 80 | | 19 | 40 | & |155| 165 | 165 | 150 | 170
m T 140 | 70 | 56 80 10 24 50 20 180 180 155 190
0L | 245 | ! | 125 ! 8 ! ! I
100L ~ 160 | 80 | 63 | 100 | 8 | o g 205 | 205 | 180 | 245
T12M 190 ) 95 lqg | 7O L VT2 | 45 | 245 | 230 | 190 | 265
1328 213 | 108 | 8o | 132 38 | 80 | 10 | 33 | 280 | 270 @ 210 | 315
132M 178
1EDM { 2468 | 1 1 210 1 1 1 T
o 254 127 |-2or{ 108 | 160 | 15 | 42 | 110 | 12 | 37 | 330 | 325 | 255 | 385
Mounting arrangements BS
go
10
Frame Shaft End Flarge End
wi!ﬂ’ln e ; . - : - =
] |DI/E F| G| M NI P/ R | S| T | Holes AC_ | _AD | HD
S0 | 24 |19 ({40 | 6 |155] 165 150 195
165 130 | 12 3
. 24 | 50 20 P9 1f00 8 180 | 185 | 195
1o0L | -. | 206 180 | 245
o O ) S ] ] i i 280 | 190 | 268
1325 | |38 80 10 33 |265 230 300 15 270 210 316
132M :
160M 24868 — t i i
160L | 42 (110 | 12 37 | 300 250 | 350 19 5 325 255 385

L



Crompton
INDUCTION MOTOR

PRODUCTS CATALOGE 2012

i, QL e = .ﬂ. L] s
VIV LIITULUBNLLY TMHULUAT 91NA
164/1 2R NTEelng oun TgnBnSndd unae trumiuoy e wIzuAT NNy 10200
TEL 02-281-5331 [ 30 Lines ] 02-280-8431-5 , 02-280-8031-2 FAX 02-280-8033-5
HOTLINE 081-280-8031 , 081-632-2500 , 083-207-8888 www.crm.co.th Email; infof@crm.co.th



	A1 copy
	+1
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	A2

